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[ Level-2/1211]

Which of the following laws is not

related to heredity ?
1) Law of Similarity
2) Law of Variation
3) Law of Regression

4) Law of Progression

Which of the following is not a

performance test of intelligence ?
1) Koh's Block Design Test

2) Alexander's Pass Along Test
3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an

objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

P.T.O.
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4. According to Moral Development

theory of Piaget, adolescent period
is:

1) Stage of moral realism

2) Stage of morality constraint

3) Stage of heteronomous morality

4) Stage of autonomous morality

Which of the
characteristics is not related to the

following

concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

Which statement is not correct in
context of individual differences ?

1) Two persons are not exactly
same.
2) Individual

deviation in

differences are
regards to

characteristics.
3) Individual

distinguish individuals in their

differences

totality.

4) Individual differences are the
sole result of heredity.
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When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method

2) Whole method

3) Massed method
4) Incidental method

Which teaching maxim is not
beneficial for the
disabled children ?

learning

1) Simple to complex
2) Abstract to concrete
3) Direct to indirect

4) Known to unknown

Which of the following is not a
principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is

predictable.

3) Development follows linear
path.

4) Development proceeds from
general to specific.

P.T.O.
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1) (@ W (b) 2) (b) W (c)
3) (@ W (d) 4) (c) W (d)

[ Level-2/1211]
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10. According to which psychologist,

11.

12.

the role of social and cultural factors
are important in the cognitive
development of children ?

1) Vygotsky
2) Piaget
3) Bruner

4) Hull

Which of the following is not a
common characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity

4) Hero-worship

Which stages of Kohlberg's Moral
Development theory are not related
to level of conventional morality ?

(@) Individualism and exchange
(b) Good interpersonal relations
(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :
) @ & (D) 2) b) & (o)
) @& 4 (¢ & (d)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

13. 34N T AT S qefae ikt
% TN HIGAT Hedr © ¢

1) FAIHMHD HIET
2) T HE
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1) & 999
2) AN
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1) JEUH ® TERHOT H ITYH

T
2) TEH B GIER
3) fwafa ardmER
4) UH B FHI
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Learning through mental

processes like attention and

reflection is called :

1) Imitative learning
2) Motor learning

3) Cognitive learning

4) Affective learning

Which teaching learning strategy is
most useful for students in context

of social learning ?
1) Field trip

2) Lecture

3) Experiment

4) Brain storming

In Pavlov's Conditioning theory,
which factor does not positively
affect the conditioning between

natural and artificial stimuli ?

1) Appropriate timing of stimuli

presentation
2) Repetition of stimuli
3) Controlled environment

4) Lack of motive

P.T.O.
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frefefes & @ @991 I
W FH d SR S=@ B
foera @l ueiaq 78 & ?

1) TN

2) TGN ® AN W H HMRD
GEIC)

3) gHe
4) STl Rt

diHes® & ofH RrEid & FgER
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1) e & Ew
2) IEME H EH
3) UHE N IH
4) g ufeichar a1 =M
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Which of the following factors does
not affect the teaching learning

process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher

4) Communication skills of teacher

Which of the following factor does
not influence the development of
child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

'Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning

theory ?

1) Law of readiness
2) Law of exercise
3) Law of effect

4) Law of multiple response
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Rergia
3) uUle fid gead
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faremr
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faremr
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1) SAREReT

2) JafRE g

3) iRy SuRefa
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1) d9gg A
2) THE HIEN A
3) I\ Jifm
4) fa¥es oAt
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Which of the following pair is not

correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent
1) Instinct theory Atkinson

2) Need Hierarchical Maslow

theory
3) Drive theory Woodworth
4) Achievement Mc'Clelland

Motivation theory

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for
disabled children

4) Education for all children

normal and

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach
3) Passive attendance
4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning
2) Problem solving learning
3) Rule learning

4) Discrimination learning

P.T.O.
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23, WAqM & B R § 3w @
e 9 vegell W & far T ® 7

(a) TEHA

(b) SIS

(c) HishaTH®

(d) HeHiH®

7&] T H AT BT :
1) (a), () W (c)

2) (b),(c) T (d)

3) (a), (b) T (d)

4) (a), (c) T (d)

24, 6 i B IfrTEdl B fo BN-T
Jfereh EETET SUH T&T © ¢
1) @R
2) SYARIHE e
3) I FA
4) e T Ay

25. ST H wWihd HHEMSEE Faer
Y @ [T @& e w1 A o -

(a) g FHI
(b) TG

(c) STE-Hivgaar

(d) Sfeafe

1) (a) T (b)

2) (b) T (d)

3) (a), (b) W (c)
4) (a), (c) T (d)

[ Level-2/1211]
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Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?

(a) Componential

(b) Experiential

(c) Operational

(d) Contextual

Choose the correct code :
Code :

1) (@), ®) & (0)
2) (), () & ()
3) (), (b) & (d)
4) (3),(c) & (d)

Which educational intervention is
not suitable for slow learners ?

1) Acceleration
2) Remedial teaching
3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills
(b) Empathy

(c) Ego-centrism
(d) Stereotyping
Codes :

1) (@ & (b)

2) (b) & (d)

3) (@), () & (o)

4) (@,() & (d
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26. HAq U9 AUH g B Fo A
g

(a) TR GO QA=

(b) SR HFRA & & FN
T =

(c) Ard qo Te-Aerd A 9w
i HTT

(d) Baq Afeep Iy FIAT

7l T B TIA BT :
% -

1) (b) W (d)

2) (b) W (c)

3) (@), () W (c)

4) (©), (c) @ (@

27. 98 [ S ‘e di@’ @ e adl
¢ AR e & g el @ o1
qEERe & W ik give
XA 8, I8 FEAR ©

1) fafdre fQren
2) Yufasher farem

3) Ui farem
4) guEsh fawEm

[ Level-2/1211]
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The true meaning of continuous

and comprehensive evaluation is:
(a) Taking frequent tests

(b) Taking continuous tests at

appropriate intervals

(c) To evaluate scholastic and co-

scholastic both aspects

(d) Measuring only educational

achievements
Choose the correct code :
Code :
1) () & (d)
2) () &(c)
3) (@), () &(c)

4) (©),(c) &(d)

The education which promotes
leaming by doing' and ensures the
student's with  their

environment to learn, that is known as :

interaction

1) Special education
2) Progressive education
3) Integrated education

4) Inclusive education

P.T.O.
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28. gfeaiym el & fog @F-w
eor dere ARl SuEr 78
grft ?

1) s aeEl
2) el fahret
3) % Rgw
4) IW FY HARE

29. SARFM Pl JAMGT B A [FeAferie
PHRbI & F& R BN TIT BT :

(a) SRR

(b) HAReH

(c) JHE™

(d) Agg=

% -

1) (c)T(Q)

2) (a), (b) T (d)
3) (3)TW(c)

4) (a), (), ()T ()

30. UH SIFM HfeE S I=a & forw guit
AR g F ofdY & § 99En SaH
H B -

1) feeafefaan
2) TEwiferar
3) feanfthar
1) feedhasgforn

28.

29.

30.
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Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the

following factors, which affects

learning :

(a) Motivation

(b) Aptitude

(c) Interest

(d) Attention

Code :

1) ©&(@@)

2) (a), (b) & (d)

3) (@&(c)

4) (a), (), (©) & (d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2/1211]
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31

32.

33.

34.

. AW = & d@Eg § FE-a g
oGIT B 7
1) 9vel - fosia
2) fory - iy
3) THYY - aHH
4) dsEr - feas

T H HH-G7 THEIE ST
T & e ghfa 787 8 7

1) TSRO - Y YT

2) [ - AR TYEW
3) @ifehd - HOT TYEY

4) RAMEIRT - FIEH TGET

= & | diF-a1 & g o g
q gAfera 787 & ?

1) Sfid - o EiY

2) TAgs - o €Y

3) WeRW - gha @Y §f

4) TGS - o1 @) 9y

O, qA T IR A9 B HA
AR WM ©

1) TR, &S, A

2) &, %3, TIY

3) %US, &, D

4) &S, %S, T

[ Level-2/1211]

35.

36.

31.

38.

o ey 1 e QEehlics h
e T& 8 ¢

1) TH EeThY = T

2) T® TH HTN MA TEl I B

3) €l EFT S STEgY S

4) AAU® IO B BE]  H

e

A9 THH GO T SO AlbI B
el e ®

1) Ted @ 9% § A S

2) STFYSIM Ga< Bl B

3) AW & G R B Fen A
4) I R FH FA

I % U T q= & ey |
HI-91 JH OFGTT & 7

1) Rl 9 & T & - gl
2) @ et 3 9 g1 & - o

3) FE HH B B g0 - b

4) foor oIy @i e =87 - fsinm

g foehea & weal § A YRS
T & ?

1) Geio, el
2) qgaE, grad
3) g, Wt
4) TEHIT, GHATOM
P.T.O.
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39.

40.

41.

42.
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1) X, ¥

2) %I, Y

3) foli, (@

4) Fu,

et 4 @ a-ar 9= ‘agw @
e 78§ ?
2) P

1) 99
3) R 4) FER

gﬁw%ﬁﬁaﬁaﬁﬁ—wzﬁww’w

?

1) FE T 9= 9 G5 @ g
wEifRd et 8, 39 fadwer #eq B

2) ‘9, &, T I 9,
MR EICEAREE L IR C L]

3) ‘B ¥ HE B Ted & -
TEaEs G99 H ST D
4) Hedaresh GO H e 9% @l

51 0 I 7 | 2 S

gw%ﬁﬁaﬁﬁ?—wzﬁaﬁWﬁ

?

1) fqaras el & YAN €ed
(ol & otfafed) whae #
2T B

2) 3, TR, & S Aara®
T B SEET 2

3) GoEE®  q A
gﬁaﬁzﬁw%é’rﬁa’qﬁaﬁ
|

4) v, witw Sw At
ATaarah Hsl & IAEL 2
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7 T 7

1) ¥ T ST BT - e
ERIC

2) HW T HE B W D -
IR FERCIEC R

3) W A el w=rg o -

PESCICCAR Rt
4) I8 @ F GIR W © -

ferotares gaa
frr # 9§ aF-a1 9= ‘oaES
dfesd g’ @ it 78 ® ?
1) g
2) BT
3) aged
4) JqA
S @ g @ fRE e @

T=E-H GFIT § 7
1) Y - e, Mo
2) M - e, =
3) T - T, Wi

4 ¥ - ¥ gd

[ Level-2/1211]
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Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?
2) Has the work been done ?
3) Had the work been done ?
4) Will the work be done ?

47. Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

48. Fill in the blank with the most
appropriate modal auxiliary :
Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

49. Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2/1211]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
A) ®)

record held / by Bradman who

©) D)
made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy

P.T.O.
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53.

54.

55.

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

GET IT ON
Google Play

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoon as

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2/1211]
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61.

62.

63.

A, @ R | uftem # 8 {5 e
g T @ PoHK 2 fPl Temm © g
¥ gEHK 5 fRl Team s, O a8
o fag & dedt § o Rew fRam
T feerd B 7

1) aferr-uidem

2) IT-Ui¥EH

3) IR-d

4) RO

I Rl g W § PROJECT' &l
'CEOPRT' @ 'PLANE' & 'ELNP'
ferEr ST 2, @ 'ORGANISED' &1 31
%S WO H {E SR foren St ?

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

qeH B UH Ui §, A S WE A
79 T B TR X% € 129 ®F W
g, Ot I WM ¥ WER uRaqd
fFor Sam 8, @ A & 9@ % 4@
22df WM & Sm B, O Ul ¥ g
qSH B G § ¢
1) 27

3) 33

2) 31
4) 34

[ Level-2/1211]

61.

62.

63.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West

2) North-West

3) North-East

4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a

Tow ?
1) 271 2) 3l
3) 33 4) 34

P.T.O.
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64. UH URaGX #, A, X % 0T B, B, Y &I
AR, AN X G Z B g Y A, A
frafofag wemt & @ d9-T1 FeH
ffeq w7 & @& 7 ' 7

1) B,A % el 3
2) B&H @ G2
3) X,ABHEAR

4) Y,Z B 91 &

65. & T NG H ToT € B

0,3, 9, 12, 36, 39, 42, 120, 360
1) 12
2) 39
3) 42

4) 360

66. Ii& A TR fewm H 8 febl ST T
et TWH Yot 6 FpHl aaiar & e
g IU-Ud Rsm # gght 10 R
Il &, O A URPWE g 8
U We?
1) 0 fret
2) 8 fl
3) 10 ft

4) 12

[ Level-2/1211]

64.

65.

66.

GET IT ON
Google Play

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following

statement is definitely not true ?
1) Bisthe wife of A

2) B has a daughter

3) XisthesonofA

4) Y isthe sister of Z

Find the wrong number in the

given series :
0,3,9, 12, 36, 39, 42, 120, 360
1) 12
2) 39
3) 42

4) 360

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting

point ?

1) Okm
2) 8km
3) 10km

4) 12km
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61.

68.

69.

10.

= |V

qi%loaﬁaﬁo@rWW(gj

.
AT HA | 8 R’ @ B, @ Se @
% A9 HE A 12 BA A T A &

fog fohom afoat @t sTaYgRar & 7
1) 6 2) 8

3) 10 4) 12

W T O @ SR U B g
e oA 32 & 3 AR Brge &l
aia: Brear 6 &t B, afk B @ o
576 &9 QU B, A 3EH SR B :

1) 4 a9
3) 6 G

2) 5 9
4) 8 Tl

I wh FEfa sgye d R @
deqr 27 @, o FHHl oTel b
deqr Bl

1) 6 2) 9

3) 10 4) 12

& g arge A T B #, dfem
WNIW\H@LIICIEF‘:TQTIS:ZWS:ll
g, 3 M argell § @ A @ 7 R
wd B # 21 @ e @& T8 fE
gy &% Sl 8, 3@ 75 My g A
qTe T STRT & YA 8 7

) 1:2 2) 2:1
3) 2:3 4) 1:1

[ Level-2/1211]

61.

68.

69.

10.

GET IT ON
Google Play

[19/A]

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6 2) 8

3) 10 4) 12

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
876 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4 12

In two alloys A and B, the ratio of
copper and zincis 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

) 1:2 2) 2:1
3) 2:3 4) 1:1

P.T.O.
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71. 23|ﬁ7005ec9—3cot9='ZGl'e'T\.'B
geH TGl § &, @ 7 cot 6 - 3
cosecOEETIIFT%I

1) 3 2) B
3) 3/7 4) 5/1

72. ¥ TF g9 H, T HH1g Fgs ABC
Sfdivifed f6ar S B, Bt & ot @

g T Wy @Rl 8 g9 g
Frygor =

1) fquHeTg Brgst

2) gHiEag By

73. T% HMER, T a&] 15% @MW W
ST B, TR IEW 3H 18 T i
g ST B, O A 18% @ S S°
TE B HA TA (T8 H) ©

1) 600
2) 540
3) 350
4) 380

74. F=fifEd o0 &1 ga @ @ ¢

DBC,KIJ, QOP, _ ? ,ZXY

1) VUW 2) USV

3) UTV 4) VTU

[ Level-2/1211]

11.

12,

13.

14.

GET IT ON
Google Play

If 7 cosec 6 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) B
3) 3/T 4) 5/1

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle
4) Right angled triangle

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600

2) 540

3) 350

4) 380

The missing term of the following

series is:

DBC, KIJ, QOP, __? _, ZXY

1) VUW 2) USV

3) UTV 4) VTU
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15

16.

11.

18.
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. A g dEett # WY 3 ¥, AR
S9h N H AN 369 B, A I
el & A B

1) 25
3) 31

2) 27
4) 33

e & TH Anwd § e,
RS 1 12 TA1 TFA1 ATERT B 5
T B, @ A SEH AuEd 36 @, At
Y B

1) 2706
3) 2796

2) 2736
4) 2766

e A ‘Q9ueE @, B AN @, C
‘HeM FH’ T D PH B TR
HA E, AW20C 12B8A2D 6
TR ¥

1) 16
3) 32

2) 18
4) 36

% A 12 e @t g 3 fEl
i ger, 18 e &l g 9 fohml
gfq guer e 24 fhadie & 4
fprt ufer gver | 99 FRar B, @
g T F B AEd =9 B

1) 4 feHt/goer

2) 4.2 FRHl /AT
3) 4.4 fHI /g0
4) 4.5 fHI /90

%’éﬂp

[ Level-2/1211]

15.

16.

11.

18.

GET IT ON
Google Play

[21/A]

The
positive numbers is 3. If the sum of

difference between two

their squares is 369, then sum of
the numbers is :

1) 25
3) 31

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is:

1) 2706 2) 2736
3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A2 D 6 is
equal to :
1) 16

3) 32

2) 18
4) 36

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr.
covering the whole distance is :

The average speed in

1) 4 km/hr

2) 4.2 km/hr
3) 4.4 km/hr
4) 4.5 km/hr

P.T.O.
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79. U U foreai § @ fowg & 719. Find the odd word from the given
FifoTq alternatives :
1) €A 2) dom 1) Violin 2) Harp
3) FER 4) gl 3) Guitar 4) Flute

80. It 16-4=2,9-3=2,81-3=4 80. Ifl16-4=2,9-3=2,81-3=4,
B, A 64—4 FT O B then the value of 64 — 4 is :
1) 3 2) 2 1) 3 2) 2
3) 4 4) 6 3) 4 4) 6

8l. 1857 % foEie & IRM, Fr=ifRaa 81. During the revolt of 1857, who
4 fheq Teas # fofewr el among the following attacked
JTEHHT b ? British establishments in Rohtak ?
1) %S gad 1) Tafzal Husain
2) IHM Tl 2) Imam Ali
3) HieX e 3) Mohar Singh
4) =Y ™ 4) Harsukh Rai

82. TRAM & A Teredl & Ty T 82. The Morni hills of Haryana belongs

to:

1) SEa ’j'@lFIT q 1) Aravalli range
2) %%QT ”j’@?*ﬂ 9 2) Hindukush range
3) TRHRH &I SiCKl q 3) Outer range of Himalayas
4) TRHRE B =R A q 4) Inner range of Himalayas

83. =Rawm # fig dw®™M &= Eh_gf e 83. In Haryana, where the Vulture
g7 Conservation Centre is located ?
1) Sig 1) Jind
2) fier 2) Pinjore
3) T 3) Mahendragarh
4) ST 4) Ambala

[ Level-2/1211]
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84.

85.

86.

81.

g & et dedia & ?

1) 95
2) 49
3) 143
4) 74

garm & feE R
ST fopam T ?
1) dHaa
2) UEgd
3) HE

4) IR

g, @ e
iR @

E(LodToQ’HO@[O ® a“T{'ﬁW, S AR
T efaen & T = F

1) fo To Mo fhaag
2) 4 YIRS
3) i dflo THo Tekadil
4) &t TRER TR

Tqad B HEA B OTEH T
TEdl § iowia ® ¥ s
LHR S T o @ Ao 2

[ Level-2/1211]

84.

85.

86.

81.

GET IT ON
Google Play

[23/A]

How many Tehsils are there in
Haryana ?

1) 95
2) 49
3) 143
4) 714

In which district of Haryana, the
Khelo Archery
ranking competition was organised ?

India Women's

1) Sonipat
2) Panipat
3) Karnal

4) Yamunanagar

The  UPSC
subsequently became the Governor

Chairman, who

of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad

The Scheme, which is being run by
the Haryana government to
replace paddy crop with more
tradition crops is :

1) Meri Fasal Mera Byora

2) Meri Virasat

3) Mera Pani Meri Virasat

4) Hamara Dhan

P.T.O.
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88. ehEmem ¥ Ay 3&@3\'{6 36 B 88. Where in the Haryana, the National

TSN FEIN FEl Ryd ® 7 Institute of Fashion Technology is
located ?

1) 9 1) Panipat
2) ST 2) Ambala
3) dug 3) Panchkula
4) FHEA 4) Kurukshetra

89. BRI & FeA Yol B B § ? 89. Who is the Chief Information

Officer of Haryana ?

1) Sl S TS 1) Smt. Jyoti Arora
2) Sfo FTER f¥E 2) Dr.Jagbir Singh
3) o fao ad= 3) Shri Vijay Vardhan
4) SFA IR HOSRI 4) Smt. Kamaldeep Bhandari
90. R & fFrefefeg &t & @ & 90. Who among the following Sages of
IO |{Id I qHeT o 7 Haryana was popularly known as
Puran Bhagat ?
1) 9T A& A 1) Baba Mast Nath
2) T MG ™ 2) Baba Gorakh Nath
3) & AN Y 3) Baba Chaurangi Nath
4) dM€1 RO Y 4) Baba Puran Nath

[ Level-2/1211]
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fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

91. I @ T H AEW G & Y,
dl &N # e R T H 9%

ST B ?
1) 2 2) 4
3) 8 4) 16

92. TEEEHYYT I H IH B ©
1) 1070
2) o
3) 10 o
4) 1o

93. Siaudie gt S R
1) Hidrgel qor SABIT
2) B T B H
3) UGN o Hiaser
4) | T T

94, U 5 [T Z9HH Mo W TH T
F=2i+3j+6k =d, 10 #&s
99 d% HF BT 8, a9 EE B
a7 & gfReds &rm

1) 12 HeX/AF78

2) 14 HeX/AFS

3) 24 HX/AFS

4) 36 Hie/AFS
[ Level-2/1211]

91.

92.

93.

94.

If the amplitude of loudness of
sound becomes twice, then loudness

increases by a factor of :
1) 2 2) 4
3) 8 4) 16

Range of the gravitational force is :
1) 10m

2) Infinite

3) 10°m

4) Im

Bioluminescence occurs in :

1) Coelenterata and Ctenophora
2) Ctenophora and Porifera

3) Porifera and Coelenterata

4) All options are right

A force F=2] +3]A'+612 Newton acts
on a 5 kg object for 10 second,
then the change in velocity of

object will be :
1) 12m/s
2) l4dm/s

3) 24m/s
4) 36m/s

P.T.O.
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95

96.

97.

. WA 9gd B YOl ¥EE ol I

e o gu § ?

1) SN Jer S
2) %ah q&T G
3) JaTdis T HABIS

4) AN T PeiEs

Iee qfieh WX W fOR d wwe
% foq Frfafad & @ $i9-a1 Suga
TeFE ?

1) axgett 1 Jeror der RS e

2) % S
3) @I B P AP
4) T Bl A B BN GHA

R geam sex qul Tgaed e
AR gt Arifees & & I
¥ qd S 8 ?

1) 3Peas SwA

2) HidIEe e
3) SRI-AE SUES
4) TI-AAEE SUE

[ Level-2/1211]

95.

96.

91.

GET IT ON
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Lichens are very good pollution

indicators. They are made up of :
1) Prions and Algae

2) Fungi and Prions

3) Phycobiont and Micobiont

4) Prions and Euglenoids

Which of the following is not
appropriate to understand science

at upper primary stage ?

1) Observing things and
recordings

2) Plotting graphs

3) Hands on experience

4) Learn the subject through

abstraction

Gibbons, proboscis monkeys and
Rhinoceros found in which of the
following subregion of oriental
Zoogeographical region ?

1) Indian subregion

2) Ceylonian subregion

3) Indo-China subregion

4) Indo-Malayan subregion
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98. HEENR H Y&q IS ¢

99.

100.

1) SIS
2) ITETEH

3) Fraiegd

4) Wi ()

1 & | #F-a1 At G5 1 @
ST &% § 7

1) e # SiH

2) =g

3) gl
4) [ fomeg T2 2

frfafed & & @9-a1 40 g BR®
ghe H &% o @ Al b Gl
e A TR BT © 7

[TRHUG 5| Fe = 56 u, S =32 u,
O=16u]

Fe S O
1) 2 3 12
2) 1 1 4
3) 02 03 1.2

4 0.1 01 04

[ Level-2/1211]

GET IT ON
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98. The chief producers in oceans are :

99.

100.

1)
2)
3)

4)

Dinoflagellates
Diatoms
Euglenoids

Planktons

In following which is element of

physical science lesson ?

1)
2)
3)

4)

Title of lesson
Introduction
Presentation

All options are right

Which of the following represents

the correct number of moles of

each element in 40 g of Ferric

sulphate [Atomic mass Fe = 56 u,

S=32u, O =16u]

1)
2)
3)

4)

Fe S 0]
2 3 12
1 1 4
02 03 1.2
0.1 0.1 04

P.T.O.
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101.

102.

1 R | O B | s R | B G B
2l 31 = § | siH-ar e AT @
Y P X g R ?

1) W%qﬁﬁﬁﬁ'ﬂeﬂa‘?ﬁw
— "R

2) @W%Wﬁ'ﬂeﬂﬂ%ﬁw
— TR

3) HEHH — THE — HERRE
i

4) THIE — FEGHE - TEGARE
— G

% YHS Al e W ® SrvEkid
2 B1 o & fams @ B

1) oufod fRRer qen feid R &

qeT B R

2) oTufod fRROT dU Srvafid feReer
% HA B BT

3) oafg fReer wd e R &
qE H B
4) BT @O

[ Level-2/1211]

101.

102.
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The wall of alimentary canal
possess four layer's. Which of the
following is the correct sequence

from outside to inside ?

1) Mucosa — Muscularis —

Submucosa — Serosa

2) Serosa — Muscularis —

Submucosa — Mucosa
3) Submucosa — Mucosa —
Muscularis — Serosa
4) Mucosa — Submucosa —

Muscularis — Serosa

A light is refracted through a

prism. The angle of deviation is :

1) The angle between incident

ray and emergent ray

2) The angle between incident

ray and refracted ray

3) The angle between refracted

ray and emergent ray

4) The angle of prism
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103. /= & @ HH-T HEFT MY G
H B foemrashia orawer 3 7

1) P Ao BRI B

2) ANMT FEET FC SAHS T
ST

3) YT & YeaN T4 ZEH UREES
AT

4) UROMI W FA Td SR G
AT

104. FET-I F BT P -II T FHIRT :

i - I e - IT
(@ YHIT  TEEED (i) 2KClOsg —
JqHe 2KCls) + 305
(o) ST oTqged (i) 2B1,03pmy —
4Al() + 30z(g)
(c) foga emEed (i) Mg +
CuSOspaq —
MgSOugag+
Cug

(d) feeds AfsRaT (iv) 2AgBr() -
2Ag() + Bra)

&t faea & -

1) (a@)-(@iv), (0)-@), (c)-(ii), (d)-(iii)

2) (a)-(1), (b)-(id), (¢)-(ii), (d)-(iv)

3) (a)-(iv), (b)-(iD), (c)-(ii), (d)-(1)

4) (a)-(iv), (b)-(), (c)-(), (d)-(iii)

[ Level-2/1211]

103.

104.

GET IT ON
Google Play

[29/A]
In which of the following is
developing stage of process of

action research ?
1) Developing an action plan

2) Implementation plan and

collecting data
3) Identified and

topic

limiting the

4) Sharing and communicating

the results

Match the

Column-II :

Column-I with

Column-1I Column - 11

(@) Photochemical (i) 2KClOjzs —
decomposition 2KCl + 302

(b) Thermal (i) 2AlO3m —

decomposition 4Al) + 302,

(c) Electrolysis (iii) Mg +
CuSOy(aq) —
MgSOy(aqt
Cug

(d) Displacement (iv) 2AgBr, ——

reaction 2Ags) + Bryg
Correct option is :

1) (@)-(v), (0)-(@), (0)-(1), (d)-(iii)
2) (3)-(), (0)-(i1), (c)-(iid), (d)-(iv)
3) (8)-(v), (b)-(i), (¢)-(iid), (d)-(D)
4) (8)-(v), (b)-(i), (c)-(D), (d)-(iii)

P.T.O.
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[30/A]

105. I UH fpE O @9 @ o |
HIq U f4eM § A B @l 8, a9
P & 3 nd %S ¥ 99 @ W

e
[U = GRS o
a= @ dNT]

1) U+a(l+n?

2) U+ &,(@n-1)

3) U+3,@n+1)

4) U+§@n+h2

106. &9 UF G [hdl b & 4
BT IO &, 9
1) THH IT 9 ST &
2) EH FHol 96 Sl o
3) I T Tl ANl §G AW §

4) THH A TG I T @A §

[ Level-2/1211]

105.

106.

GET IT ON
Google Play

If an object is moving with constant
acceleration along one direction
only, then the distance travelled in

the nth second is :
[Take U = Initial Velocity

a = Acceleration ]
1) U+a(l+nd

2) U+§é@n—n

3) U+ 8,(@n+1)

1) U+%@n+n2

When an electron is passing
through magnetic field, then :
1) Its velocity is increased

2) Its energy isincreased

3) Both velocity and energy are
increased

4) Velocity and energy of electron

remain constant


https://applink.adda247.com/d/XhqWf9lSap
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107. Fr=ifafad 39 oM@ & d@dgEs
I FHIT

-

/N

Frfefad & @ $F-8 Hicmgel & A,
B T C &l @&l YaRid & § 7

1) g9 () 4 g€ AR g gl

2) w Sl A FAl T
3) T= gar EIEK]
4) TEE el $ 9w wEEE

108. M I & gk & WU GE<
&9 & eaE gl BN 8, ST

1) 2.5 HieX
2) 25 @Ho
3) 2.5 9o

4) 25 Hex
[ Level-2/1211]

GET IT ON
Google Play

[31/A]
10Z. Study the given Venn diagram

-

/\

N

carefully :

Which of the following colloidal

systems correctly represent points

A,BandC?
A B C
1)  Mist Whipped Dust
cream fumes
2) Milk Hair cream  Pumice
stone
3)  Paints Smoke Cloud
4) Coloured Wings of Butter

glasses butterflies

108. The minimum distance of distinct
vision for young adult with normal

vision is about :
1) 25m
2) 25cm
3) 2.5cm
4) 25m
P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
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[32/A]

109.

110.

111.

Th FT H X 9 H B I g B
g = s@R aRafi B @

Wl () =128 X

Ta% U @Y S 0 @ 10 AvE
3 7y ofed 9 ® ¢

1) 6 Hie/A%s

2) 24 HeX/AFS

3) 36 Hie(/A%HS

4) 12 HeX/AFS

Frfetad & | - s Reer |
He-efor Tty B ?

1) s T

2) HA-TW HeEdl
3) UIgF-J&is

4) MU

BT -1 1 BT Pew - I § ST -

i - I
(a) 28 g He (i) 58.5u
(b) 0.59T O, (i) 79d
(c) M @@ & (i) 60 g
AR
(d) BT B 1.5 (iv)1l6g
o
gel fapeq & -
1) (3)-(iv), (b)-(id), (c)-(iii), (d)-(D)
2) (¥-(i), (b)-@v), (c)-(1), (d)-(iii)
3) (¥-(i), (b)-@), (c)-(iii), (d)-({v)
4) (8)-(i), (b)-(v), (c)-(iii), (d)-()

i - II

[ Level-2/1211]

109.

110.

111.

GET IT ON
Google Play

The distance (s) travelled by a
particle varies with time (f) as :

(s) = 1.2 £ meter.

The average speed during time
interval O to 10 second is :

1) 6m/s

2) 24m/s
3) 36m/s
4) 12m/s

Which one of the following is
co-curricular activity in science
teaching ?

1) Science club

2) Audio-visual aids

3) Text-book

4) Blackboard

Match the with

Column-II :

Column-I

Column-1I Column - I1

(a) 28 gHe
(b) 0.5 mole of O3

(c) Molecular mass (iii) 60 g

(i) 58.5u

(ii) 7 mole

of common salt
(d) 1.8 of (iv) 16g

calcium

mole

Correct option is :

1) @-(v), (b)-(d), (c)-(iid), (d)-(1)
2) (8)-(i), (b)-(iv), (c)-(1), (D)-(iii)
3) (8)-(i), (b)-(0), (0)-(iii), (d)-(iv)
4) (8)-(i), (b)-(iv), (c)-(iii), (d)-(1)


https://applink.adda247.com/d/XhqWf9lSap
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112.

113.

206 g TUacl B¢ AfeTH SEs &l fagq
Auged fbar Sr B, O AfeEw #
Il e ZeHH B8R

[GHE 599 Na = 23 u, Br = 80 u]
1) 40g

2) 469

3) B2g

4) 23g
TAGHITE & Gl Uishar | el &
¥ I EERRHT B &

I 1-3 SEREHIARARS oF — 3-
HIERRARHRE 31T

I. BEREA|  UEead o —
qIZ6ideh 31T

1. 2-BHERARHR® A N
BRI 36l 3T

IV. 3-BEhRaR® o —  2-
HIERRARHRE 31T

1) Fad [ a0 I

2) %ad II o 101

3) @ad Il o IV

4) Faq I @O0 IV

[ Level-2/1211]

112.

113.

GET IT ON
Google Play

[33/A]

206 g of molten sodium bromide is
electrolysed. The maximum mass

of sodium obtained will be :
[Na =283 u, Br = 80 u]

1) 40g

2) 46g

3) 52g

4) 23g

In the entire process of glycolysis

4 phosphorylation occurs in two of

the following steps :

I. 1-3 Diphosphoglyceric acid —
3-phosphoglyceric acid

II. Phosphoenol Pyruvic acid —
Pyruvic acid

III. 2-phosphoglyceric acid —
phosphoenol pyruvic acid

IV. 3-phosphoglyceric acid — 2-
phosphoglyceric acid

1) Onlylandll

2) Only II and III

3) OnlyIll and IV

4) OnlylandIV

P.T.O.
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[34/A]

114. #eW - I 9 RU T Ho & Fa
PAH - I § QT TT I TR bl
fafyr & #iftg -

Hied - I i - II
(@@ ¥ dd & (@) BET
GEMI

115.

(b) e § e g (i) MR
e &l ol

() 5@ H 9% & (i) TB
LER

(d) TEd H A H (iv) aH
RECIRESINGEI)

&7el e ©

1) (@)-@v), (b)-(iii), (c)-@3), (d)-(ii)
2) (¥-(1), (b)-(ii), (c)-(v), (d)-()
3) (@-(@v), (b)-(D), (c)-(t), (d)-(iii)
4) (¥)-(@i), (b)-(ii), (c)-(), (d)-{v)

T% 210 dfc & a9 5 e | fbal
PAR FHT A BT 7

[4.2 90 = 1 3a dif]

1) 63,000 dard

2) 80,000 Hard

3) 15,000 Fard

4) 10,500 Hard

[ Level-2/1211]

114. Match

115.

GET IT ON
Google Play

the mixture given in
Column - I with their method of

separation given in Column - II :

Column -1 Column - I1I
(@) Oil mixed (i) Sieving
with water

(o) Iron powder (ii) Decantation

mixed  with
flour
(c) Salt mixed (iii) Magnet
with water
(d) Kidney beans (iv) Evaporation
mixed  with

rice flour
Correct option is :
1) (8)-@v), (b)-(3ii), (c)-(1), (d)-(ii)
2) (8)-(i), (b)-(iid), (c)-(iv), (d)-(D)
3) (8)-(v), (b)-(D), (c)-(i1), (d)-(iii)
4) (8)-(i), (b)-(iid), (c)-(), (4)-(iv)

A bulb of 210 W will produce heat

in calorie within 5 minutes ?
[Take 4.2] =1 cal.]

1) 63,000 cal.

2) 80,000 cal.

3) 15,000 cal.

4) 10,500 cal.


https://applink.adda247.com/d/XhqWf9lSap
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116. 59 v I Tdwem owamnr 6
PR e e & odur =
RGBT H Gorr Yd HIEHRA q &
A
1) IR RFHT
2) TeITh Al
3) e gh
4) SAIEST T &N

117. Fr=fafad & & &9-8 Somd 5
g7
() o g3 T @ ST | ARk
(i) =T H TIH
(iii) T & AT
(iv) FR (Fheedt) &1 HEureH

1) () T (i)

2) (i) Tq€ (iii)
3) () T (iv)
4) (i) T (iv)

118. 11 § § @& fobeq d-¥1 & 7
1) gt g > defe g > QDfs
g
2) el gY > g g > D
g
3) e Ty > Vs quor > adf
o
4) Wfgs g7 > G g9 > Aefw
g

[ Level-2/1211]

116.

111.

118.

GET IT ON
Google Play

[35/A]

The scientist who first explained
that cells divide and new cells are
formed from pre existing cells is :

1) Walther Flamming
2) Rudolf Virchow
3) Robert Hooke

4) Schleiden and Schwann

Which of the
exothermic processes ?

following are

(i) Reaction of water with quick lime
(i) Dilution of an acid
(iii) Evaporation of water

(iv) Sublimation of camphor

(crystals)
1) (@) and (ii)
2) (ii) and (iii)
3) () and (iv)
4) (ii) and (iv)

Which is
following ?

correct option in
1) Sliding fraction > Rolling
fraction > Static fraction
2) Rolling fraction > Sliding
fraction > Static fraction
3) Rolling fraction > Static
fraction > Sliding fraction
4) Static fraction > Sliding

fraction > Rolling fraction

P.T.O.
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[36/A]

119

120.

121.

. HEIEE H TEENE G ©

1) ALO,.2H,0
Z) Na.sAlFe
3) NazAlFG

4) NaAlF,

=M ¥ 59 wEew (d9) d &%
qRtE=EReT O q ST ©

1) TAfeT

2) gt

3) HiceH

4) IHEARA

Th Feil 15 Fhelad &l go oxdl 9§
2.0 HeX SR Todl A B T

W@ Bl F BN 9o WX RRAr T
w4 B : [g =10 m/s2RI

1) 300 o HIKX
2) 30 T HIX
3) 600 & HieX
4) 3 T HIX

[ Level-2/1211]

119.

120.

121.

GET IT ON
Google Play

The chemical formula of cryolite is :
1) Al,O;.2H,0

2) NazAlFg

3) NayAlF,

4) NaAlF,

Which one of these phylum possess

closed circulatory system ?
1) Annelida

2) Arthropoda

3) Mollusca

4) Echinodermata

A porter lifts a luggage of 15 kg
from ground and puts it on his
head 2.0 m above the ground. The
work done by porter on the
luggage is : [Take g = 10 m/s?]

1) 300 Nm

2) 30Nm

3) 600 Nm

4) 3Nm


https://applink.adda247.com/d/XhqWf9lSap
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122

123.

124.

= |V

. d A B d @ el @m

A9 e ?
1) e, Vg, fewdr qr qhe
2) i, NEE, F asdl qu g

3) m, M wed, sl aur 9

4) g, HERA, AT ASA T ST

yreifiys Afee ST HH-9 § 7

1) el qur e afverdt
2) iw qu YIE o
3) TRy Hse qUr UAHA
4) IZHE qAT URAH

fr=fofeg & @ P9-a1 ®a9 & 78

g7

1) 99 T% SHex ool 8, af s
T NS IRaa &l & gl

2) AMEEE SiaY] et @ STuie
H @M E JA TENE I
FA B

3) AAE W TH WA H [E &
SR METr A iBier FHean gl

4) W SUE FH GiEM TH A
RIECRE ]

[ Level-2/1211]

122.

123.

124.

GET IT ON
Google Play

[37/A]

Which of the following set of fishes

are edible ?

1) Catla, Rohu, Hilsa and Pomfret

2) Prawn, Sardines, Lobsters and
Rohu

3) Prawn, Lobsters, Crab and
Oysters

4) Rohu, Mackerel, Lobsters and

Crab

What are the primary lymphoid
organs in the body ?

1) Spleen and lymph nodes

2) Tonsils and payer's patches

3) Bone marrow and thymus

4) Thymus and appendix

Which of the following statement is

not true ?

1) When a candle burns, both
physical and chemical changes
take place.

2) Anaerobic bacteria digest
animal waste and produce
biogas.

3) Depositing a layer of iron on
zinc is called galvanization.

4) Stretching of rubber band is a

physical change.
P.T.O.
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125.

126.

1217.

e TG e (Fanes frede)
W FA & I 8, I -1 S
JFRS § T Y8 H GGRT § 7

1) UeEgiies & (To o Tdo)
2) I

<)IRUEBICE]

4) TSR

i e e e A 4 e AR
TR w7 | gauE & ?

1) afsar

2) T AiWeX M
3) d & Al

4) B HIA

Th IO U9 H AT B 3.0
diex 31 Ak o fr 3@ 3O /5.0
i g W Rem &, o ufafa= &
Reffar 21 -

1) +2.14 HiX

2) -1.15 Hiex

3) -2.14 Hiex

4) +1.15 HieX

[ Level-2/1211]

125.

126.

121.

GET IT ON
Google Play

When glomerular filteration rate
falls which of the following hormone
is released to stimulate glomerular

blood flow ?

1) ADH (Antidiuretic hormone)
2) Renin

3) Angiotensin

4) Aldosterone

Which of the following species is
critically endangered reptile in
India ?

1) Gharial

2) Bengal Monitor

3) Common Skink

4) Green Turtle

A convex mirror has a radius of
curvature of 3.0 m. If a object is
located at 5 m from the mirror,
then position of image is:

1) +2.14m

2) -1.15m

3) -2.14m

4) +1.15m


https://applink.adda247.com/d/XhqWf9lSap
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128.

129.

130.

P13 K TR FHIH m HAAM e,
5 Hex/AFe I 4§ Tasda &
JE N TS Foll 25 I oI AR I
% AT B AN A el R §@,
TP TSl St Bl

1) 225 @

2) 75 g

3) 450 Jd

4) 375 9

Fr & & P81 oo JUgrErel
g7

1) RGN

2) SUHH

3) Uifeaaniferd

4) TE (T SHMEEERS TE)

et 4 @ ai9-|1 qey aiRRefE
STTHACT H 7ET HH © 7

1) WEHHS — STAEHHE — HEATT HHS

2) THHHED — THA! TP — SIHEBHSD

3) TEHT! HHEb — HOHID — STHEhHS

4) SITEHHED — HEFA! HHD — TEHHD

[ Level-2/1211]

128.

129.

130.

GET IT ON
Google Play

[39/A]

The kinetic energy of an object of
mass m moving with velocity 5 m/s
is 25 ]J. If velocity of this object
increased by three times, then

kinetic energy will be :
1) 225]

2) 15]

3) 450]

4) 375]

Which one of these is a excitatory

neurotransmitter ?
1) Glycine

2) Dopamine

3) Acetylcholine

4) GABA (Gamma Aminobutyric
Acid)

Which of the following is the
correct sequence of succession in

plants ?

1) Xerarch — Hydrarch — Mesic
2) Xerarch — Mesic— Hydrarch
3) Mesic — Xerarch — Hydrarch

4) Hydrarch — Mesic — Xerarch

P.T.O.
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[40/A]

131. dEdl H UsEge 09 & &9 A 131. In which the following mirror is
HIF-7 FYO7 IUFT F for e ® 7 used as rear view in vehicle ?
1) Sqd g 1) Convex mirror
2) dqd YT 2) Concave mirror
3) SUA T faqd Q| Uh-9re 38) Both convex and concave

mirror together

4) 37@ q Eﬁ"i& Tt 4) None of these

132. U% GQNG STUHMTE B SIeel [ 132. The hydrophilic end of a synthetic
g detergentis:
1) CHs- (CHgz)10—- CH,- 1) CH;- (CHgz)10- CH,-
2) COj Na' 2) CO3; Na’
3) SO; Na* 3) SO, Na*
4) COO Na* 4) COO Na'

133. =1 § § @9-a W &Y & giiad 133. Onmne of the following is hormone
fpam & ? secreted from Heart :
1) Tead ﬁﬁ?ﬁﬁzﬁ et 1) Atrial Netriuretic Factor
2) ;ﬁ'{ﬁ?ﬁﬁﬁ? 2) Noradrenaline
3) Tt 3) Vasopressin
4) UEHAE 4) Adrenaline

134. H¥ % FUA H fhadl =B B 134. How many facial bones are there in
arfeerat EI'I".% o the skull of human ?
1) 8 1) 8
2) 14 2) 14
3) 22 3) 22
4) 2 4) 2

[ Level-2/1211]
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135.

136.

I U T IYHT THE T TG q9
w® O Y& & faeeer & oremae

H B T IUEET § oI B
\L—w'aam‘ra
W\ P

Freifataa & @ & &1 #F-a1 g
¥ a | Fafa & faRa @ o?
(feam &1 qEE F@EE H = 1 u,
C=12u,N=14u,0=16u)

1) NH, T H,
2) CO T SO,
3) CO Tl N,

4) NH, T N,

= & T agelt & eikmsiiear @
ged g¢ F4 4 Fefed 8@ ae-d
GeT e 7 ?

1) R > o > Ty > afegy
2) WIETH > R > A > i
3) wifeam > e > Ariife > oA

4) Wit > FiiREm > RKiw > e

[ Level-2/1211]

135.

136.

GET IT ON
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[41/A]

The apparatus given below is used
to study the diffusion of a number
of gases at the same temperature
and pressure.

Porous Barrier

7

Gas Vacuum

e

Which of the following pairs of
gases would diffuse into vacuum at
the same speed ? (Given atomic
massof H=1uy, C=12u, N= 14 u,
O=16u)

1) NHzand H,

2) COand SO,

3) COandN;,

4) NH;and N,

Which of the following is the

correct arrangement of the given

metals in descending order of their

reactivity ?

Zinc, Iron, Magnesium, Sodium

1) Zinc > Iron > Magnesium >

Sodium

2) Sodium > Magnesium > Iron >
Zinc

3) Sodium > Zinc > Magnesium >
Iron

4) Sodium > Magnesium > Zinc >
Iron

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

[42/A]
137. SJRI] I XA Afepet § e 137. The process of release of sperm
HETT & ¢ from seminiferous tubule is known
as:
1) &Wad 1) Ejaculation
2) SIS /EFH ST 2) Spermatogenesis
3) %ﬁﬂﬂﬁﬂqFﬂvﬁ/Fﬂﬁﬁﬁﬁﬁ?H 3) Spermiogenesis
4) wWHTIE 4) Spermiation
138. U@ % [ &A1 & HaW H 138. Which of the following statement is
frfafag & 9 @F-a1 Fu9 @& e ? correct with respect to flame ?
1) ST bl e TR 89 e T 1) Outer zone of the flame is its
AR BT & Tl E[”'T T B B hottest part where complete
combustion takes place.
2) SO B HEA & Wl T BB 2) Middle zone of the flame is of
zl red coloured.
3) SEIl &l T <X A AF ofEd 3) Innermost zone of the flame is
(qwq) ™ & Rl moderately hot.
4) STl hl T oK & &9 A 4) Innermost zone of the flame is
1 &1 A B of blue coloured.
139. Tl P §aE § FW h HaE W gt 139. At a height h above the earth's
> ﬂ"tﬁﬁ'q 9@ % HROT @O % AN surface the fractional change in
T i gRade 8T the value of acceleration due to
[ ® R- g & Frewm) gravity is :
[Given R - Radius of earth]
h h
I — 1) =
) R ) R
2) 1—ﬁ 2) 1_@
R R
2
3) 2h 3) 2h
R R
4) 1+ﬁ 4) 1+ﬁ
R R

[ Level-2/1211]
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140

141.

142.

. = # 9 P98 Aem § afy a

B T s B 7
1) &

2) W (fe) /@
3) gHI

4) farq

5 fhelamd &1 T 6 [ 0
% W W@ O 5l AR AE A
TR 10 Ao, AR 20 Mo T
S 40 o &, T «F B AW
oqd W A a1 A R

[ g=9.8m/s*TIT]
1) 612.5 e /Hio”
2) 2450 /w0’
3) 1225 e /o’
4) 6125 e /Ao’

1§ @ ®9-a1 Ho g R ?

1) U Te. o, (1979) I Hed
AT qHrile TSI

2) g9 au fiead (1978) W AfeH
AT Tehrilh TR

3) AT e, . (1979) I A&
AT Tl bl THSAAT

4) 3. TH. §&4 (1975) 7 IgG @
TR fepd

[ Level-2/1211]

140.

141.

142.

GET IT ON
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[43/A]

In which of the following media

speed of sound wave is greater ?
1) Air

2) GClass (Flint)

3) Water

4) Vacuum

A block of mass 5 kg is kept on a

tabletop. If block have length 10

cm, breadth 20 cm and height 40

cm, then pressure exerted by block

of mass 5 kg on the tabletop is :
[Take g = 9.8 m/s?]

1) 612.5 N/m?

2) 2450 N/m?

3) 1225 N/m?

4) 6125 N/m?

Which of the following statement is

true ?

1) Southern blotting technique is
developed by Alvine et.al
(1979).

2) Northern blotting technique is
developed by Broome and
Gilbert (1978).

3) Western blotting technique is
developed by Towin et.al.
(1979).

4) E. M. Southern (1975) purified
IgG.

P.T.O.
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143

144.

145.

. TS A & B B @ 7 FAT HA

2 foTe® Suaasie 1.50 31 afe TSt
T g 7 3 x 10° fex/Agoe
2, O9 @ § YBIT PRI B

1) 0.5x10° Hex/AHe
2) 1x10° Hiex/ A%
3) 3x10° Hiev/ AT
4) 1.5x10° Het/Aave

Frefafad & & SF-91 -8R g%
g7

1) e

2) I B G

3) &l

4) AFT =

Frrfci & & iF-a1 FHo s B
Sl HEY UGS ARAT FIAT § ¢

1) de6 O FET H Yo
SEITF T B

2) Mg I HWEww & fow Asive
fafr & Pawr A FERE B

3) o fasarat @ gomel 2
4) FoeTe wpid & A T

[ Level-2/1211]

143.

144.

145.

GET IT ON
Google Play

Light enters from air to glass
having refractive index 1.50. If the
speed of light in vacuum is 3 X 10°
m/s, then speed of light in the

glassis:

1) 0.5x10°m/s
2) 1x10°m/s
3) 3x10°m/s
4) 1.5x10°m/s

Which of the following is an acid-

base indicator ?
1) Vinegar

2) Lime water
3) Turmeric

4) Baking soda

Which of the following statement

best describes the nature of

science ?

1) Scientists are totally objective
in their work.

2) The scientific method is the
only guide for conducting
research.

3) Science is a system of belief's.

4) Science is social in nature.
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141.

148.

. 3T M9 ¥ S daf Bl R

1) Id SERRH H T4
2) @ac SATTARIH H GHM
3) SATHIRH d HATTATrh H A

4) B T HATaTrh F

qget & M § Feiaiaa § @
HI-TT TR F S ' ?

1) b

2) P I

3) AR

4) Ugiferad

fr=ifoifeg & ®9-9 &9 gy E ?

L WY FoE § ged (Weh) SR &
@ 9 S S|

II. AgHeEl H Fas T F@Uh TR
% @I I S

I foaell & foFRlE SR & JEi
Y 9 E

IV. ¥ § Fao  qor e
q@ I A S

1) aq I T I

2) %aq I qur I

3) Faq I qum II

4) Faq I @0 IV

[ Level-2/1211]
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[45/A]

The offsprings produced after

asexual reproduction are :

1) Only morphologically same

2) Only genetically same

3) Morphologically and genetically
same

4) Morphologically and genetically

different

Which of

extraction of metals ?

1) Coke

these is wused in

2) Coalgas
3) Coaltar

4) Petroleum

Which of the following statements

are correct?

I. Housefly have sponging type
of mouthparts.

II. Honey-bee have biting and
chewing type of mouth parts.

III. Butterflies have siphoning type

of mouthparts.

IV. Cockroaches have chewing and
lapping type of mouthparts.

1) Only II and III
2) OnlylandlIll
3) Onlylandll
4) OnlyllandIV

P.T.O.
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149

150.

(60-70%) FH, I=a THI Tl faga
SO B B U g @93 § @
AT ], 98 B ¢

1) G

2) freEe
3) fugfra
4) TR

frfafag & ¥ ®9-9 %99 g g ?

() S uEed & N AN
qRafid B 2l

(ii) AT dgAvSaE  URRGRER H
I % 9 ™y o@er d
gRafid 8 S 2

(i)859 @® TJ=9 FIAE,
TG il bl ST B

EEN

(v) [l T & [T T B W
SH & AN H oA BT
ST At Bl B

&l faea & -

1) (D & (iv)

2) (i) T (iv)
3) (i) T (iii)
4) (iii) T (iv)

149.

150.

GET IT ON
Google Play

A brown coal, low in carbon
content (60-70%), high in moisture
content and generally used in
power plants to produce electricity
is:

1) Peat

2) Lignite

3) Bituminous

4) Anthracite

Which of the following statements

are correct ?

(i) Temperature changes during
the change of a state.

(ii) Dry ice gets converted directly

into gaseous state under

normal atmospheric conditions.
(iii) Higher boiling points of liquid
indicates weaker intermolecular

forces.

(iv) Latent heat of vaporization is
generally higher than the latent

heat of fusion for a substance.
Correct option is :
1) (i) and (iv)
2) (ii) and (iv)
3) (ii) and (iii)
4) (iii) and (iv)

[ Level-2/1211]
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	1211-A.pdf
	ROUGH WORK-2.pdf
	1211-A_1-30.pdf
	1211-A_31-45.pdf
	1211-A_46-60.pdf
	1211-A_61-90.pdf
	1211-A_91-150.pdf
	ROUGH WORK-1.pdf
	BACK_COVER.pdf

